

Lemma 3.0 $\phi_d(x) = e^{-\frac{1}{2}\|x\|^2}$, $x \in \mathbb{R}^d$. Für $\phi_d \in \mathcal{S}(\mathbb{R}^d)$
 a $\widehat{\phi_d} = \phi_d$

Dh: (1) $\phi_d \in \mathcal{S}$, wobei $\forall x : D^{\alpha} \phi_d = P \cdot \phi_d$, wobei P Polynom

a $\forall P$ Polynom: $\lim_{\|x\| \rightarrow \infty} P(x) e^{-\frac{1}{2}\|x\|^2} = 0$

(2) $d=1 \Rightarrow \phi_1' = -x \cdot \phi_1$

wird $(\widehat{\phi_1})'(\xi) = \widehat{-x \phi_1(x)}(\xi) = i \cdot \widehat{\xi \phi_1}(\xi) = i \cdot i \xi \widehat{\phi_1}(\xi)$
 $= -\xi \widehat{\phi_1}(\xi)$

$\Rightarrow \phi_1$ ist $\widehat{\phi_1}$ weil differenzierbar und $y' + y = 0$

wobei $\phi_1(0) = 1$

$\widehat{\phi_1}(0) = \frac{1}{\sqrt{2\pi}} \int_{\mathbb{R}} e^{-\frac{x^2}{2}} dx = 1$

$\Rightarrow \widehat{\phi_1} = \phi_1$

(3) $\widehat{\phi_d}(t) = \frac{1}{(2\pi)^{d/2}} \int_{\mathbb{R}^d} e^{-\|x\|^2/2} \cdot e^{-i \langle \xi, x \rangle} dx =$

$= \prod_{j=1}^d \frac{1}{\sqrt{2\pi}} \int_{\mathbb{R}} e^{-x_j^2/2} \cdot e^{-i \xi_j x_j} dx_j \stackrel{(2)}{=} \prod_{j=1}^d e^{-\xi_j^2/2} = e^{-\|\xi\|^2/2}$
 $\phi_d(t)$

V31 (a) $f \in \mathcal{S} \Rightarrow \mu, \lambda > 0$

$$\int_{\mathbb{R}^d} f\left(\frac{x}{\lambda}\right) \phi_d(x) d\mu_d(x) = \int_{\mathbb{R}^d} f(y) \phi_d(\lambda y) \cdot \lambda^d d\mu_d(x) =$$

$$= \int_{\mathbb{R}^d} f(y) \cdot \lambda^d \widehat{\phi}_d(\lambda y) d\mu_d(x) = \int_{\mathbb{R}^d} f(y) \widehat{\phi}_d\left(\frac{y}{\lambda}\right) d\mu_d(y) =$$

$$= \int_{\mathbb{R}^d} \widehat{f}(y) \cdot \phi_d\left(\frac{y}{\lambda}\right) d\mu_d(y)$$

$$\lambda \rightarrow \infty \Rightarrow \int_{\mathbb{R}^d} f(0) \phi_d(x) d\mu_d(x) = \int_{\mathbb{R}^d} \widehat{f}(y) \widehat{\phi}_d(0) d\mu_d(y)$$

Leibniz. integr. mgv. ϕ_d resp. \widehat{f} konst.

$$\Rightarrow f(0) = \int_{\mathbb{R}^d} \widehat{f} d\mu_d$$

$$f(x) = (\tau_{-x} f)(0) = \int_{\mathbb{R}^d} (\tau_{-x} f) d\mu_d = \int_{\mathbb{R}^d} \widehat{f} \cdot e_x d\mu_d,$$

ca. \mathbb{R}^d mod.

$$(b) \widehat{\widehat{f}}(x) = \int_{\mathbb{R}^d} \widehat{f}(t) e^{-i \langle x, t \rangle} d\mu_d(t) = \int_{\mathbb{R}^d} \widehat{f}(t) e^{i \langle t, -x \rangle} d\mu_d(t) \stackrel{(a)}{=} f(-x) \stackrel{''}{=} \widehat{f}^{\vee}(x)$$

$$\text{Teig } \widehat{\widehat{\widehat{f}}} = \widehat{\widehat{f}} = f$$

$\mathcal{F}: f \mapsto \widehat{f}$ is bijection, inverse $\mathcal{F}^{-1}(f) = \widehat{\widehat{f}}$, odder is \mathcal{F}^{-1}

• Dm^o 10049 32: Necht $f \in C^1(\mathbb{R}^d)$ a $\hat{f} \in C^1(\mathbb{R}^d)$

$$\Rightarrow f(x) = \int_{\mathbb{R}^d} \hat{f}(\xi) e^{i\langle \xi, x \rangle} d\mu_d(\xi) \quad \text{s.v.}$$

D4: Také upravíme soubor vyjádření jako:

$$\begin{aligned} \int_{\mathbb{R}^d} \hat{f}(\xi) e^{i\langle \xi, x \rangle} d\mu_d(\xi) &= \int_{\mathbb{R}^d} \hat{f}(-\xi) e^{i\langle -\xi, x \rangle} d\mu_d(\xi) = \\ &= \widehat{\widehat{f}}(x) \end{aligned}$$

Pro každé $g \in \mathcal{S}(\mathbb{R}^d)$ platí:

$$\int f \cdot \hat{g} \, d\mu_d = \int \widehat{\widehat{f}} \cdot g = \int \widehat{f} \cdot \widehat{\widehat{g}} \stackrel{\text{Substituce } x \mapsto -x}{=} \int \widehat{\widehat{f}} \widehat{g} = \int \widehat{\widehat{f}} \cdot \widehat{g}$$

\uparrow T26 (g) \uparrow V31 (b) \uparrow T26 (g)

$$\Rightarrow \int (f - \widehat{\widehat{f}}) \widehat{g} = 0 \quad \text{pro v. } g \in \mathcal{S}$$

$$f \in C^1, \widehat{\widehat{f}} \in C_0 \Rightarrow f - \widehat{\widehat{f}} \in C_{loc}^1. \quad \text{Pro každé } \mathcal{S} \supset \mathcal{D}(\mathbb{R}^d),$$

$$\text{je } \mathbb{1}_{f - \widehat{\widehat{f}}} = 0 \stackrel{L6}{\Rightarrow} f - \widehat{\widehat{f}} = 0 \text{ s.v.} \quad \text{A to pomůžeme}$$